CJIOXKXEHHUE 0 CJIOXEHUE
OJINH JIBA

l1+1=__ 2+1=_
1+2=__ 2+2=__
l1+3=_ 2+3=_
l+4=_ 2+4=_
1+5=__ 2+5=__
l+6=_ 2+6=__
1+7=___ 2+7=__
1+8=__ 2+8=_
1+9=__ 2+9=__

Nwms Nwms

Jlata JlaTa
CJIOXKXEHHUE 4 CJIOXEHUE

TPU YETBIPE

3+1=__ 4+1=__
3+2=__ 4+2=__
3+3=_ 4+3=__
3+4=_ 4+4=
3+45=_ 4+5=_
3+6=_ 4+6=__
3+7=__ 4+7=__
3+48=_ 4+8=_
3+9=_ 4+9=_

Nwmsa Nwmsa

Jlara JlaTa




CJIOXKXEHHUE CJIOXEHUE
IIATHh IHIECTb

S5+1=__ 6+1=__
5+2=__ 6+2=__
5+3=__ 6+3=__
S+4=_ 6+4=__
S5+5=_ 6+5=__
5+6=__ 6+6=__
S+7=_ 6+7=__
5+8=__ 6+8=__
5+49=__ 6+9=__

Nwms Nwms

Jlata JlaTa
CJIOXKXEHHUE CJIOXEHUE

CEMb BOCEMb

T+1=__ §+1=__
T+2=__ 8+2=__
7T+3=__ 8+3=__
T+4=__ 8+4=_
T+5=_ 8+5=__
7T+6=__ +6=__
T+7=__ 8+7=___
7T+8=_ 8+8=_
7+9=__ 8+9=__

Nwmsa Nwmsa

Jlara JlaTa




9 CJIOXKXEHHUE 9 CJIOXEHUE
JTEBATD JNEBATDH
O+1=__ O+1=__
9O+2=__ 9O+2=__
9+3=_ 9+3=_
O+4=_ 9+4=_
9+5=__ 9O+5=__
9O+6=__ 9O+6=__
O+7=__ O+7=__
9+8=__ 9+8=__
9+9=__ 9+9=__
Nwms Nwms
Jlata JlaTa
9 CJIOXKXEHHUE 9 CJIOXEHUE
JTEBATD JNEBATDH
9+1=__ 9+1=__
9O+2=__ 9O+2=__
9+3=_ 9+3=_
9O+4=__ 9O+4=__
9+5=__ 9O+5=__
9O+6=__ 9O+6=__
O+7=__ O+7=__
9+8=_ 9+8=_
9+9=_ 9+9=_
Nwmsa Nms
Jlara JlaTa




BbBIYMTAHUE 9 BbBIYUTAHUE
OJIMH JIBA
B 2-2=
b= 2-1=
Nwmsa Nms
Hara Jlata
BbBIYMTAHUE 4 BBIYMTAHUE
TPU YETBIPE
3.3= b
4-3=
3-2=
3-1= 4-2=__
— 4-1=
Nwms Nms
Jlata Jlara




HIECTD

6

[TATH

| | (I |
O < on AN —

O O \© O O

1 | | I |
it on AN —

v n N ) \n)
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JIEBSTE

9

9

10

10

JIECATD

10-9 =
10 -8 =

10-7=

10-6=__
10-5=__
10-4=__
10-3=__
10-2=__

10-1=

Nmsa

10

JlaTa

JIECSITh
10-9 =

10 -8 =

10-7=
10-6=
10-5=
10 -4 =

10-3 =

10-2 =

10-1=

Nmsa

10

Jlara




11 11T 12 12

OINMHHAJILIATDH JIBEHAJILIATDH
-0 12-9=
11 -8= _
12-8=
11-7= _
12 -7=
11-6= _
12-6=
11-5= _
12-5=
11-4= —
12-4=
11-3=_ 7.3 =
11-2= —
M Nms
JlaTa JlaTa
13 TPUHAILIATD 13 14 YETBIPHALIATD 14
T 14-9=
13-8= B
14-8=
13-7= _
14-7=
13-6= _
14-6=
13-5=__ 45
13-4 = —
M Nms

JlaTa JlaTa




15 IATHAILIATD 15 16 INECTHAIILIATH 16
15-9=__ 16-9 =
15-8= _
- 16 -8 =
15-7=_ 167 =
I15-6= S
M Nms
Jlata JlaTa
17 CEMHA/LIATH 17 18 BOCEMHAILIATD I8
17-9= _
17.8— 18-9=_
M Nms

JlaTa JlaTa
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JNEJIEHUNE OcrT. JNEJIEHUNE OcrT.
Nmsa Nmsa
Jlata Jlata
JIEJIEHUWE OcrT. JIEJIEHUE OcrT.
- 1 9 =
= r 6=
- 2=
- 1=
Nmsa Nmsa
JlaTa Jlata




